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m Read the following passage and answer the questions that follow.

51/
(The Japan Times, April 25, 2021. “Ticket to ride: Disabled passengers face added

burden from a lack of smart cards”)

@ Read the following passage and answer the questions that follow.

51/
(BBC News, March 23, 2021. “Making honey without bees and milk without cows”
By Emma Woollacott)

Read the following passage and answer the questions that follow.

51F
(The Conversation, February 1, 2021. “Robot revolution: why technology for older

people must be designed with care and respect” By Nola Ries and Taro Sugihara)



